[ Efficiency vs vertpos |

= 0.1 , ,
©0.00F -] b | R
: ; 5
Z0.08F -+ fro i e e
(8] F . .
G007 e {heeeeene RN R R
S E : :
o N R A Lo
0.05F 1+ Fiefeede TR TP
0.04F -+ ++{ifeees SR SRR, (R
0.03F++{+{-i- L SR 3 T EERTRT
0N07 XN R RIS SRS 0 o S5 SETEE: RETRR
0.0+ feiee e ool
o B : .
g
o L
4=---- + -4 P R

0.95 : .
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_TT _original_time

— —e— DQM_TT _original_time2
Efficiend _,__ pom T modified_time2

N 0.2r

T e i S E S
0 E : : : | :
Z0.16p------ L A B Peneeee
> E : : : ! :

2 F : : : | :
ol s S S S A
S E : : : : :
£0.12-- e AR AR prreee
o 3 : : : : :

O et I TR EEE SR
0.08F -~ R L] I SRR SRR ST
| N
L R H | VAU SRS SIS
e

[ S U O | T 4 OO TR

Ratio

H
T
+

%

09/ —=20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
2.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02
0.03

Of——

o [

9

© B H ! ! H 1 a H

Q@ L5frerrinenes tofee b EREE ORREE EAbEs ol RERRE RN
AP TSUYE SIS SOURN SN 5S N

10 -8 6 -4 -2 0 2 4
Sim. PV z (cm)



	Contents
	Page 1


